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The equals Method: To Override or Not?
_cladk W

boolean equalsah

retuenfhig == J

exfends ova/y P/ / extends

clas
doub e X; C cuble Y;
PDIntVZ ave ' TOUL

gTean equal (Ob]gg; obj) {

this == obj) { return true; }
if(obj == null) { return false; }
iIf(this.getClass() '= obj.getClass()) { return faloSg
Point other = (Point) obj;

return this.x == other.x

&& this.y == other.y;

' -

double y,
PointV1 (double X, double y) {

this.x = Xx;
this.y = vy;

y




The equals Method: Default Version

classémect ) |

P boolean e.*-__..,..'.:\uum_..._ JIOR
retueén.this == obi. "'"[

"2, 3)";
PointVl pl = Tiew PointV1(2, 3);

PcuntVl ,QZ_— new PointV1(2, 3);
POI1ntVE D5 new P01ntV1(4 0

n
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’} System.out.prlntlﬁ 2 ); /+ false */
}' Fl System.out.prlnt * false */
X System.out.prlnt pl /ﬂ true */
l=5 n.‘l{ (_§_) System.out.println pl equals null /+ false */
? System.out.println ' /’v% false x*/

,rwf false =*/

System.out.printlq;
System.out.printlk{pLyd

extends

@

class Poin(V1 ’
double Xx;
double y;
PointV1 (double X, double y) {

this.x = X;




The equals Method: Overridden Version Example 1 —
é&!""lgzzwfuh 3) " )

e N

1
class Object { 2

boolea@bject obj) {
retuen this == obj;
y

Po1 2(p2) = new PointV2(2, 3);
PointV2 3 = new PointV2(4, GSE

System.out.println(pl == p2); /* false %/
System.out.println(p2.== p3); /x false */
System. out. D1 & '
System. out.
System. out.

47:; Fl:.‘: FI \@ System. out.

SV ST Eem:CUuL ;

extends

class Poi @

double Xx; double y;

- PointV2 (double x, double y) { ... }
fboolean equals W4 ]|
=§if(this == obj)&t

return this.x == other.Xx
&& this.y == other.y;



@nf\” ]7| = N .
class PointV2 { ’-’Z,mf VZ , = A |, __
double x; double y; F

PointV2 (double x, double y) { ... } 'F',' a&(’%zl)

eanequais(Object obj)
Fhis/=—ohi { : \

:y,Point other = (
return this.x == other.x
&& this.y == other.y;




class PointV2 {

double x; double y;
PointV2 (double x _double y) { ... }
boolean equals¢ObiectIobj W

—> if(this == obj) { tefum“rue,
iIf(obj == null) { return false; }

. DL
_GT(TATSgai6iass() La=shigetClass())A return false } ct.
PPointvothey ~(Bointv2 J

)))obj;
U V2
othebhy:

X == Othey




class PointV2 {

double x; double y;
PointV2 (double X, double y) { ... } Fl /’Q "d//

boolean equals(Objectm) {
iIf(this == obj) { return true; }

if(Qbi == null) { return false. ;.

if(this. getClass() l= obj.getClass()) { return false }

PoinYlother = (PomﬂZobJ,
return this.x == other.x

&& this.y = other Vi U)‘B/? ‘_Fﬁ"\t \}2 ]7(

&_ S-" m(/s







System.out.printini(pl.
System.out.println(pl.
Svstem.ocut.println(pl.
System.ocut.printlniis
System.ocut.printin(pn2.

Th M .l.h d. 1 |Stxing 5 = "(2; 3)%;
e eguals e O e 2 | PointVl pl = new PointV1(2, 3);
? 3 |PointVl p2 = new PointV1(2, 3);
-d N .I. 4 | PointVl p3 = new PointV1(4, 6);

To Overr' e Or o P 5 | System.out.println(pl == p2); /* false x/
6 | System.out.println(p2 == p3); /* false */
~ b @

38

class Object {

SETing 8 — ®{Z, 337}
PointV2 pl = new PointV2(2, 3);

PointVZ pZ2 = new PointV2 (2, 3);

PointVZz p3 = new PointV2(4, 6);

System.out.println(pl == pZ2); /+ false
System.out.printliln{pz £
System.out.println(pl.
System.ﬂut.prlntln(pl
System.out.println(p
(
(

‘ System.@ut.prmtln

System.out.println

boolean equals(Object obj) {
retuen this == obj;
b,
b

DO NO OB WN —

extends extends

PointV2 (double X, double y) { ..
boolean equals(Object obj) {
iIf(this == obj) { return true; }

double y, if(obj == null) { return false; }

iIf(this.getClass() != obj.getClass()) { return false }
Point other = (Point) obj;
return this.x == other.x

&& this.y == other.y;

PointV1 (double x, double y) {
this.x = Xx;
this.y = y;

b

y




class PointV2 {

double x; double vy;

PointV2 (double x, double y) { ... }
boolean equals(ObJect obJ) {

>|f(th|s = 0bj)

if(obj == nullX{ return false; }
if(this. getClass() = oDbj.ge aSS(
-—% % Poin | L) S | |




The equals Method: Overridden Version Example 2

PointV2 pl = new Pointvz@
PointVZz pZ2 = new PointV , (B)
PointVZ p3 = new Pointhgz B-
System.out.println(pl == pl1); /R ~/
System.olit .println(p - 4
System.out.prlntln(pl
System.out.printin(pl
(
(P

class Object {

boolean eqguals(Object obj) {
retuen this == obj;

h

y
System.out.println p2

System.out.println

OO NOOTL S~ WDN =

l:l-

extends

o
—

class PointV2 {

double x; double y; (A) Two objects are reFerence-equal.
PointV2 (double x, double y) { ... }

boolean equals(Object obj) { (B) Two objects are contents-equal.
!f(this == 0bj) { return true; }

if(obj == null) { return false; }
if(this.getClass() != obj.getClass()) { return false } | = If (A) 1S frue then (B) IS true.

ot 7. epds (52
- If (B) is true, then (A) is true.
pl.egalrcpy)  pla=p

&& this.y == other.y;
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